6. #HEEtRUR N (EH- M E&- DHFEREF)
6—1 E&-NERM

1. din(seikanf); BFFE EREH

obs 752
R2C 0.49

H#ESHHARS | 1991-2006

B &
[d(seikand3) 0.679 31.58 [xkx

2. dintkumiaif); & EEREH

obs 752
R2C 0.17

HESTHARS [ 1991-2006

i34 g
0.679 15.70 [hx

[d(kumiaid3)

3. din(kokuhof); ER{EERIKRE

obs 7152
R2C 0.05

HESTHARS [ 1991-2006

i34 g
0.323 17.93 [sox

[din(kokuhoc)

4. din(kyosaifs); #EFME (ELRIE) RIEH

obs 752
R2C 0.11

HEETHARS [ 1990-2006

i34 tig
0.301 12.34 [sorx

[din(kyosaifsd)
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5. In(kaigof); IrERBRF

obs 329
R2C 0.99
#EETHARS [ 2000-2006
R i
Constant -1.454 —2.89 |¥¥x dtiEE
-1.593 —3.49 |dokk AR
-1.492 -3.32 [xxx SEE
-1.217 -2.66 [¥%k iR
-1.572 —3.51 [%x AR
-1.500 -3.36 [#kk 8
-1.335 -2.92 |Fxk BEE
-1.186 —2.57 [xxx I
-1.153 —2.57 |dokxk HARR
-1.323 -2.89 [%xk HER
-1.072 -2.20 [#* BER
-1.212 -2.50 [** FER
-0.845 -1.61 REE
-1.091 —2.17 [¥% HWENE
-1.537 —3.23 |dokx Fiag
-1.444 -3.23 [%x ZE
-1.437 —3.23 |dokxk aINE
-1.423 ~3.30 [xxx [EEaC]
-1.357 -3.20 [#k% T
-1.473 —3.15 |dokxk RHE
-1.288 —2.82 [#okxk It B2 1
-1.199 250 [** AR
-1.009 -2.03 |#* BHE
-1.373 -3.01 [#kk =E8
-1.218 —2.80 |dokx HER
-1.401 -2.97 [xxx RERRF
-1.159 —2.26 |¥* KBRAF
-1.391 -2.79 [%xx EEE
-1.418 -3.22 [#%k =g
-1.589 -3.58 [¥xk NI E
-1.575 —3.72 [xxx EHE
-1.615 —3.70 |sokk ERE
-1.483 -3.18 [¥xk e
-1.439 —3.00 [#kx LEE
-1.600 =3.47 |*xx [If=] =}
-1.639 -3.72 % meE
-1.425 —3.25 |dokk FINE
-1.597 -3.49 [¥xx BIEIE
-1.714 —-3.90 |#*x S5
-1.531 ~3.06 [¥#* 1SR E
-1.551 —3.56 |Hokk EBER
-1.626 —3.54 |dokk RigE
-1.672 —3.56 |dokk N
-1.581 =3.52 |¥%x KoE
-1.549 —3.47 [#kx b=y
-1.726 —3.68 |Hokxk ERSE
-1.607 —3.61 [xxx g Is
|kaigodummy -0.405 —21.04 [Rxk
In(kaigok) 1.037 25.70 [xkx
6. din(rmedkkk); ER-—fi%. BEE. #HEHEMAS
obs 376
R2C 0.65
HESTHAR [ 1999-2006
e tiiE
[Ikoup 0.061 33.90 [xkx
[din(PRMKK4) 0527 580 [#kk
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7. din(rmedk); & AREERT

obs 376
R2C 0.70
HESHHARS | 1999-2006
=% tiE
Constant -0.002 -0.82 3 tE
din(PRMKXXX) 0.999 454 [xxx dbiEE  [IKouD -0.046 -2.88 [xkx
1.225 5.40 [xk* AR -0.053 —3.42 |Hokxk
1.035 4.57 |x¥x =EFE -0.049 -3.20 [¥¥%
0.807 3.62 [#¥% BHE -0.039 -2.51 [**
0.957 4.17 |Hkk AR -0.035 -2.34 |x*
0.994 4.34 |x*% W R -0.036 -2.46 [**
0.833 3.64 |kkk EER -0.033 -2.20 [**
0.947 4.30 [¥xx FIRE -0.047 -2.98 [
0.906 4.03 |*¥x mARE -0.041 —-2.64 [¥¥x
0.950 4.26 [+¥x BER -0.035 -2.27 [**
0.829 421 [¥xx HEER -0.050 -2.88 [k
0.885 4.36 [¥xk FEE -0.052 -3.04 [k
0.705 3.30 [¥xx E -0.053 -3.24 [
0.763 3.77 [Hkk EEINNEY -0.047 -2.73 [#kx
0.959 4.27 |kkk HBE -0.039 —2.59 |kk*
1.168 5.27 [xxx ZIE -0.048 -3.18 [
0.903 4.09 [¥¥* BB -0.045 —-2.98 [#%x
1.046 4.67 [¥xx E3HE -0.039 -2.64 [xxx
0.873 3.94 ¥k I -0.030 -1.98 [*x
0.904 4.05 [xkk EBE -0.029 -1.93 [
1.037 4.66 [¥xx I 5 1B -0.041 -2.61 [
0.828 3.77 [k BHRE 2 -0.044 -2.79 [k
0.838 3.95 [¥** EZHE -0.047 —2.85 [#%x
0.896 4.00 [#x% =58 -0.037 -2.40 [*x
0.878 3.99 |dokk HER -0.029 -1.84 [*
0.859 3.92 [¥xx BET -0.036 -2.31 [k
0.810 3.86 ¥k KRAF -0.049 -2.90 [k
0.885 4.07 |kkk EER -0.040 —-2.48 |x*
0.789 3.63 [¥xx Z=gE -0.034 -2.09 [k
0.920 4.08 [*¥xx FFLE -0.032 -2.12 [*x
1.085 4.84 |kkk BEHRA -0.027 -1.88 |*
0.895 4.01 [#xk ERE -0.027 -1.89 [
1.006 4.54 [¥%x Ff] L2 -0.038 -2.54 %%
0.985 4.48 [¥xx LEE -0.042 -2.77 [
1.169 5.22 [xkk wag -0.033 -2.23 [*%
1.318 5.80 [¥xk EER -0.056 -3.77 [k
0.883 3.95 [#xk FE -0.028 -1.90 [*
1.107 4.90 [k ZiRE -0.040 -2.70 [k
1.280 5.70 [#** S -0.028 -1.91 [*
1.115 5.03 |dokx* =R -0.046 -2.95 [k
1.094 4.86 [k EBER -0.038 —2.61 |Hokk
0.966 4.27 [¥xx Eil5E -0.045 -3.05 [
1.182 5.28 |x¥* NS -0.042 —-2.80 [#%x
1.004 4.44 [k AHE -0.035 -2.37 [*%
1.240 5.51 |dkx =Y -0.038 —-2.50 [**
1.294 5.73 |kkk BERER -0.033 -2.29 |%*
1.342 6.27 [xxx shiEE -0.035 —2.21 [k
8. din(kaigok); &8 {T
obs 282
R2C 0.81
HESTHAR | 2000-2006
3 i
[din(p65) 0.722 8.10 [xkx
[din(nintei) 0.936 30.05 [**x
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6—2 NHIFEEM

1. dintkonenf); EEFERIER

obs 752

R2C 0.59

#EEHHARS | 1991-2006

3 tfiE

din(konenfd) 1.108 5.75 [#%k dbiEE
0.960 6.39 [#xk EHRE
1.142 6.75 |k =EFR
0.984 6.61 [k EiRE
0.947 5.84 [k MEHE
0.880 5.80 [#*x i
0977 6.37 [k EER
0.924 5.79 |dokk RIRE
0.799 5.01 [##k HAL
0.722 5.35 [k HER
0.950 6.22 |*¥k BER
1.200 5.95 [k FEE
0.954 5.05 %%k B
0.876 5.24 |xkx FEIEY
1.042 6.79 [k Hing
0.941 6.03 [k =g
0.958 6.20 [#** BIE
1.033 5.82 [k BHE
1.016 5.99 [¥** RS
0.666 4.63 [#xk EHE
0.990 5.61 [sokk g B2 12
0.853 5.01 [#%k e
0.885 5.73 |fokk ZHME
0.896 5.77 [%** =)
0.938 5.85 |fokk HER
0.814 5.11 [#%k RERRT
0.829 5.12 [#%% AR AT
0.818 5.34 |fokk EER
1.111 6.62 [*xk ZRER
0.970 5.78 [##k IS
0.923 5.88 |#xk BWE
1.045 6.00 [k SiRE
0.799 5.19 |*xx i 1L 2
1.033 5.79 |#xk IN=T5
0.985 5.71 |*xx wWAag
1.009 5.71 |fokk EER
0.878 5.59 |dokk FNE
0.716 479 [¥xx BIEE
0.855 6.06 |#xk EHE
1.087 6.49 [¥xx BEE
1.114 7.12 [wkk EBER
1.031 5.89 [k RIGE
0.998 6.24 |Hkx N
1.169 6.78 |Hokk AR
0916 6.01 [k HiFE
1.163 6.84 |k EREE
1.642 9.78 [k Pkl
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2. In(kokunenf); ERF&RIZH

obs 799
R2C 0.99
#EETHARS [ 1990-2006
=% tiiE
Constant -4.672 -15.32 [#*x dbimE
-4.847 -16.85 |#kk EHRE
-4.862 -16.95 [%¥* =EFR
-4.796 -16.33 [*okx RS
-4.965 —17.43 [sokx MEHE
-4.899 —17.18 [#** i
-4.861 -16.65 |*¥* EER
-4.642 -15.64 [%¥* ZIH R
-4.826 —16.54 [**x HAL
-4.724 -16.18 [Hokx HER
-4.471 -14.52 [%*x BEER
-4.486 —14.66 [**x FEE
-4.174 -13.23 [sokx REER
-4.479 —14.41 [¥*x H=)INE
-4.777 ~16.25 [**x wEE
-5.113 -17.98 [sokx =g
-4.994 —17.51 [#*x BIE
-5.185 -18.49 [%okx BHE
-4.995 —17.76 |skx [Ty
-4.772 -16.32 [#** EHE
-4.717 —16.13 [sokx It B2 IR
-4.593 -15.32 [%%x BHRE 2
-4.443 ~14.43 [%*x BHIE
-4.837 —16.64 |*** =58
-5.071 —17.70 [**x HEER
-4.839 ~16.37 [**x RERRT
-4.507 —14.49 |%kx KBRAF
-4.663 -15.31 [skx EER
-5.024 —17.46 [fx* =R1E
-4.943 —17.43 [%%x MILE
-5.374 -19.45 [Hxk EHE
-5.275 -18.93 [*okx ERE
-5.069 —17.41 [%%x g LR
-4.863 -16.41 [¥x* LEE
-5.079 —17.63 [*okx iT]=]-!
-5.250 -18.73 [#okk mER
-5.160 -18.23 [k** FIINIE
-4.942 -17.18 [sokx ZIEE
-5.196 -18.56 [#kk opail!
-4.725 ~15.58 [*x EEe
-5.071 -18.06 |*kx EER
-4.966 -17.26 [%+* RiFE
-4.770 -16.44 [*** N
-5.197 -18.23 [#%x AR
-5.038 -17.71 [fxx =I5 I8
-5.014 -17.33 [sokx BREE
-5.189 -18.15 |sokx Pk 1t
In(kokunen
+p2064) 0.647 51.90 [k
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3. din(kyosaifl); #{FH& (RERE) RIEH

obs 752
R2C 0.53
HEETHARS [ 1990-2006
e tiiE
[din(kyosaild) 0.759 34.73 [*xx
4. dintkonenk); BEEFEEHfT
obs 752
R2C 0.28
HESTHARS [ 1991-2006
3 i
din(p65%konenro) 0.823 6.31 [#kx dLiEE
0.983 7.20 |Hokk AR
1.014 7.31 [#k [ESC
1.066 8.17 [k BERE
0.911 6.45 [¥¥* MHE
0.965 6.39 |*xx 152
0.946 6.53 |dokk EER
1.148 8.35 [#¥k FIRE
1.015 717 |fokk AR
1.000 6.98 [k HER
1.022 9.33 [k BER
1.101 9.65 |#ok FER
0.809 6.26 |dokx REEER
0.843 7.48 [xkk HWENE
0.939 6.18 |dok ing
0.903 5.84 [k ZIE
0.968 6.22 |*xx AINE
0.942 6.18 |dok EHE
1.148 741 |*xx IESTY
1.060 6.84 |fokxk EHE
0.928 6.66 |dkx I B2 1
0.961 7.20 [k FRRE R
0.877 7.06 |*xx ZHE
0.973 6.84 [#xx =)
1.109 8.04 [k HEE
0.940 6.32 [xxx RERRF
0.778 6.32 |Hokk AR AT
0.822 5.87 %%k EER
1.054 8.01 [#xx Z=gpE
0.848 5.44 |fokk MILE
1.031 6.45 [xkk BWE
0.993 6.02 [Hkk ERE
0.953 6.18 |*xx i 1L 12
0.878 5.84 |Hkx LEE
0.838 5.30 |**x wWag
0.894 5.96 %%k mEE
0.956 6.07 |*xx FINE
0.805 5.20 |fokk ZIER
0.858 5.35 %%k EHE
0.756 5.36 [¥#k 1B E
0.929 5.78 |fokk EER
0.674 4.35 [k RiFE
0918 6.02 [Hokk N
0.999 6.52 |dokk AR
0.894 6.26 |dkx HiFE
0.999 6.20 |fokk BREE
1.444 10.80 [k Pk !
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5. din(kokunenk); ERE&EH

obs 752
R2C 0.61
#ESTHARY [ 1990-2006
RE HiE
[din(p65%kokunenro) 1512 95.90 [x*x
6. din(kyosaik); H£FHEE (REZE) B4+
obs 752
R2C 0.12
#EETHEARY | 1990-2006
e tiE
[din(p65%konenro) 0.328 10.75 [wokx
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